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Section—-A (Marks : 2 x 10 = 20)

Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.

(TUE-3) (3R : 2 x 10 = 20)
Tl T/ I F W ST (-1 50 ) | FIF Y 2 3T H R
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (3T : 8 x 5 = 40)
g # 9 fel ule yedl & SW ST (SW-E 200 I5) | TAF U 8 Hh
F Tl

Section—C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) (37h : 20 x 2 = 40)
IR T 9 fH=i 3 v & W Sifu (SW-HE 500 I5) | TF G 20 37F hl
Tl
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Section—A
(@'Ug—?ﬁ)

1. (@ What is responsibility accounting ?

STEITIE TR F1 ¥ ?

(ii)) What is Acid-Test Ratio ? Give its ideal value.
STRA-T@ 3T 41 § 7 SR STYl 19 Sifsiu

(ii1) When does flow of funds take place ?
I T FATE FHA oKl §

(iv) What is meant by Cash equivalents ?
ke qodi 9 1 3WE 7 2

(v)  What is meant by Capital Structure ?
Tt AT 1 SWE § 2

(vi)  What is Operating Cycle Period ?
uferem = ey wm % 2

(vil) Name the discounted Cash flow methods of capital budgeting.
ARG Ihe Fare fafed & T8 s |

(viii) What is the cost of retained earnings ?
wfaenfid ol it @Fa w7 ?

(ix) What is meant by Financial Forecasting ?
ot qafgami &1 = owE ¥ ?

(x)  Give formula for shutdown point.

FE o< fag 1 g
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Section-B
(TUs-=)
2. Discuss the meaning and scope of Management Accounting.
Yo A 1 31 U9 &5 FaE|
3.  What is fund flow statement ? How does it differ from the Cash Flow Statement ?
FIY Jarg foero =1 T ? 9% ke Yo% foerw § 5w g = ¥ 2

4. Rank the following investment in order of their profitability according to average

rate of return method :

frerifera foe geamal &1 ofed T R USfa W STR ANEERdl & STIER HHeS
ST

Projects A B C D E

Initial Outlay (%) 25,000 3,000 12,000 20,000 40,000
Annual Cash Flow %) 3,000 1,000 2,000 4,000 8,000

Life in Years 10 S 8 10 12

5. From the following information, you are required to estimate the working

capital required.

[ oo

frefafe g=m & oTus! Teavad wrEieia ISt &1 STHHH o §

Cost Per Unit ()

Raw Material 200
Direct Labour 100
Overhead (excluding depreciation) 250
Total Cost 550
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Estimated data for the forthcoming period are given below :
AN drell Ity & A Sife T TS ™ E—
Raw Material in Stock Average 6 weeks

Work-in-progress (assume 50% completion stage with 100%

material consumption) Average 2 weeks
Finished Goods in stock Average 4 weeks
Credit allowed by suppliers Average 4 weeks
Credit allowed to Debtors Average 6 weeks
Cash at Bank expected to be % 75,000
Selling Price % 800 per unit
Output 52,000 units per annum

Assume that production is sustained at an even pace during 52 weeks of the year.

All sales are on credit basis.
52 O H IR O A W S W ¥ 9ol fasht SUR emER | ¥

6. Calculate the trend values by the method of least squares from the data given

below and estimate the sales for the year 2023 :

F= 53 T wEwRl § FAaa i fafy g7 vafa gedi w1 oA SIS o a9 2023 &
fore fasra s =i -
Year 2014 2015 2016 2017 2018

Sales of T.V. (in '000s) 12 18 20 23 27
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7. A company has obtained capital from the following sources, the specific costs are

also noted down against them :

T w7 e @ St g w6 et fodie s e g | d) e E—

Source of Capital Book Value () | Market value () | Cost of Capital
Debentures 4,00,000 3,80,000 5%
Preference shares 1,00,000 1,10,000 8%
Equity shares 6,00,000 12,00,000 13%
Retained Earnings 2,00,000 — 9%

You are required to calculate weighted average cost of capital using :
(1) Book value weights and

(ii))  Market value weights.

39— (i) T&TF Hed ARI, TN (ii) SR Jed YR 1 TIRT HId U WRIfhd S a gt anTa
1 AT HITST |

8.  Sujata Limited has a share capital of ¥ 20 lakh dividend into 40,000 equity shares
of ¥ 50 each. The company can raise additional funds of ¥ 10 Lakh for
expansion either by issuing all equity shares or all 9% debentures. The company’s
present earnings before interest and taxes are ¥ 2,80,000. Rate of income tax is

50%. Calculate the point of indifference.

goman fafgee &t gefit T 20 @@ © S 9 T 50 % 40,000 THar 3wt § faafsa g
foR & fau &t 3 10 e o1 SAfafed o9 a0 Iegol TEar eih g’ A "ot 9%
FOMS AT ThId Y Tehal ¥1 oS o H gHH H Y9 IaHE oS e (EBIT)
2,80,000 ¥1 3R T T 50% T Tt feafq & qeey fog @=m 2o 2
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Section—C
(@us-|)
9. From the following information, prepare a Balance Sheet of Ashutosh Ltd :

Frefafed go 9 s fafaes =1 fag1 sAe .

(1) Current Ratio 2.5
(i1)) Liquid Ratio 1.5
(ii1) Proprietory Ratio (Fixed Assets/Proprietory Funds) 0.75
(iv) Working capital % 60,000
(v)  Reserve and Surplus T 40,000
(vi) Bank Overdraft % 10,000

(vii) There is no long term loan or fictitious Assets.

10. What is Cash Flow Statement ? Give a specimen of Cash Flow statement by

indirect method using imaginary figures.

Uehe Yarg foaaxo =0 § ? 19y fafy 9 weufae 99@i & MUR T Yshe Yarg foaxo
hl THAT IS

11. Critically examine the various methods of evaluation of capital budgeting

proposals. Discuss their advantages and disadvantages.

STt a5 gEAEl & qodishd i fatd= faftE i seeers e S| ST v
wE wfE i feEEn i
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12. On the basis of the following information, determine the product mix to give

highest profit :

frefafed g & TER W eAfushan @y &1 ifd v Scas g s i St

Products A B C
Material Per Unit 20 kg 12 kg 30 kg
Machine Hours Per Unit 3 hrs. 5 hrs. 4 hrs.
Selling Price Per Unit T 250 % 200 % 400
Maximum Possible Production (in Units) 1,500 1,000 750

Machine hours for production are available upto 9,200 maximum at a cost of

% 10 per hour and 50,000 kg of raw material @ I 10 per kg can be obtained.

S & ferw stfireram 9,200 B9 =2 % 10 9fq ST o W Sqes ® q@r 50,000
fermm @t 10 wfa fm & X ¥ U 1 S Gkt 7
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